

Maisonette in Mosta



Mosta, Central



€520,000

Reference No: 240011080-551

 Total Rooms: **8**

 Floor Area (m²) : **217**

 Bathrooms: **2**

 Bedrooms: **3**

Maisonette - For Sale - Mosta

Mosta – Brand New to the Market. Located in one of the most desirable areas of town, this spacious three-bedroom maisonette is being offered finished (excluding bathrooms and doors). Spanning approximately 220 sqm, the property boasts a generous 50 sqm backyard along with an internal yard. The layout comprises a large open-plan kitchen, living, and dining area, three double bedrooms (main with ensuite), a boxroom, and a separate laundry room. The property is ready built and currently in its final finishing stages. Freehold. Optional car spaces available. For more information and to book your viewing please contact our agent

Features

- ✓ Ceramic Floor
- ✓ Entrance Hall
- ✓ PVC Piping
- ✓ Double Glazed
- ✓ En Suite
- ✓ Gypsum Plastering
- ✓ Skirting
- ✓ Back Yard

Rooms

- ✓ Kitchen/Living/Dining : 12 x 4 m (48 m²)
- ✓ Box Room : 3 x 1.3 m (3.9 m²)
- ✓ Hallway : 8 x 1.5 m (12 m²)
- ✓ Double Bedroom : 4.16 x 4.29 m (17.85 m²)
- ✓ Shower Ensuite : 1.33 x 2.7 m (3.59 m²)
- ✓ Bathroom : 2.62 x 2.53 m (6.63 m²)
- ✓ Double Bedroom : 3.4 x 4.45 m (15.13 m²)
- ✓ Double Bedroom : 3.62 x 4.14 m (14.99 m²)
- ✓ Laundry : 1.52 x 1.85 m (2.81 m²)
- ✓ Hallway : 9.5 x 1.22 m (11.59 m²)
- ✓ Open Space : 1.6 x 4.06 m (6.5 m²)
- ✓ Open Space : 1.41 x 2.08 m (2.93 m²)

- ✓ Open Space : 4.8 x 5.84 m (28.03 m²)

Gallery





Elton Laferla
RE/MAX Premium - St Julian's

M: 79079415
E: elaferla@remax.com.mt
T: 21384508

RE/MAX Premium - St Julian's
72/73, Gorg Borg Olivier Street, St Julian's, Malta